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CBT Sample assessment model answers

Advanced Diploma Synoptic Assessment (AVSY)

Sample assessment 2
Task 1.1  (15 marks)
[image: image2.png](a) Complete the following statement. (2 marks)

To resolve the matter, the conceptual framework states that Wajid must use.

professional judgement Jod]

Sherie is an accountant who works for Hook Ltd. Jorge is a new trainee accountant with Hook Ltd.
Sherie tells Jorge that sometimes there is  confictto be resolved between an individual's personal values
andthe behaviour of their employer. Sherie personally values loyalty and faimess highly

(b) For each of the following examples identify whether there is a conflict to be resolved between the.
behaviour of Hook Ltd's management and Sherie’s personal values. (2 marks)

Long-standing employees are allowed an extra half day's
holiday for every two years of permanent employment with Hook Ltd.

Employees are promoted on the basis of family or other close
relationships.

Faimess | [fes





Task 1.1 (continued)
[image: image3.png](c) Identify whether the following statements are true or false.

3 marks)

‘Sherie may never disclose confidentialinformation to any third party

‘The threat that Sherie is facing to her compliance with the fundamental
principles is a seff-nterest threat.

‘Sherie must resign immediately from Hook Ltd as her integrity has been
‘compromised by the offer from the potential customer.

Ian is also an accountant with Hook Ltd. The manager of one of Hook Ltd's main suppliers has offered an gifts
Ian has known the manager for several years

(d) Complete the following statement. (2 marks)

Being offered gifts by the manageris [afar

[obiectity ¥}

farty threat tolan's fundamental principle of.





Task 1.1 (continued)
[image: image4.png](e) Complete the following statement. (2 marks)

In relation to the evidence and documentation, lan must be particularly careful to ensure the fundamental

principle of - [confidentiaiiy JEA s not breached when sesting guidance from Antoine.

Elle is an accountant who works for a professional accountancy firm. She has a dlient who has been involved
in concealing criminal property. Ellie has reported the clientto the relevant authority, and has told the client
about this.

(0 Complete the following statement. (2marks)

Ellie has committed the criminal oftence of [ipping off. %]

Luke is an accountant in practice, working as a sole practiioner. He has discovered that a client has been
money laundering.

(9) Complete the following statement. (2 marks)

Luke should disclose confidential information on this matter directiyto [ine National Crime Agency. ¥}






Task 1.2  (16 marks)
[image: image5.png](a) Show the entries that need to be made in the general ledger to correct the £2,000 VAT that was.
reclaimed.
Make each selection by clicking on a box in the left column and then on one n the right column.
You can remove aline by clicking onit. 2 marks)

Account

Bank

Depreciation charges

Disposals of non-current assets
Debit£2,000.00
‘Suspense
VAT
Credit£2,000.00
Vehicles accumulated depreciation

Vehicles at cost

Vehicles running expenses





Task 1.2  (continued)

[image: image6.png](b) Complete each of the following statements to show the action you advise. (4 marks)

| achise that the VAT reclaimis an error that.

can be ignored.

must be reported separately to HIMRC.

can be corrected on the current VAT return without a separate reportto HIRC.

This action should be taken because.

the error was deliberate.

ofthe size of the error.

Mo made a mistake that was reasonable in the circumstances.

No action has been taken to change the VAT treatment sither in the accounts or with HMRC. You consider
consulting a technical helpline set up by your local college to determine what you should do next.

() According to the ethical code, which of your fundamental principles would be under threat if you
called the helpiine?

Objectivity

Confidentiality

(1 mark)





Task 1.2  (continued)

[image: image7.png](d) Do you need to take further action to ensure your compliance with the ethical code in this case? (2 marks)

No, no further action by me is necessary because itis Mo's responsibily to decide how to proceed.

Yes, | should inform Mo in writing that my professional principles prevent me from being connected
with the VAT return or other related information submitted to HIRC.

Yes, | am obliged to inform HMRC aboutthe error myself





[image: image8.png](e) Answer the following:

(i) Prepare the journal for the first full year's depreciation on the car based on ts corrected cost n the
general ledger. (4 marks)

Journal

Depreciation charges 3000

Vehicles accumulated depreciation 3000|

(@) Complete the following statement about the overall effect on the business's profit for the year of
correcting the VAT reclaim. (1 mark)

NewPlace's proftfor the year will e [fower gl than ifthe VAT reclaim had not been corected.





Task 1.2  (continued)

[image: image9.png]Kiera Jackson at Addo & Co finds out about Mo's attemptto reclaim VAT incorrectly. Kiera believes she has
reason to suspectthat this was part of a money laundering operation at NewPlace.

() What should Kiera do next? (@ marks)

Discuss the matter in full with Ho.

Make a Suspicious Actvity Report o the relevant extemal authority, detailing her suspicions.

Make an interal report within Addo & Co, detailing her suspicions.






Task 1.3  (14 marks)
[image: image10.png](a) Using the information above, determine the following budgeted figures for the year to 31 December

20X7, to the nearest whole number. (4 marks)
(i) Breai-even sales volume: 12000] units
(i) Total break-even contribution: £ 600000
(i) Total profitfor the year: £ 400000
(V) Margin of safety: 5000 units





[image: image11.png](b) Using the information from the trial balance, calculate the following actual figures for the year

1031 December 20XT. @ marks
@ Totalvariable cost B 2520000
@ Totalfeed cost B 438000
(@) Totalcontributon B 580000
@) Proftfor the year B 242000





Task 1.3 (continued)


[image: image12].
Task 1.4  (15 marks)
(a)

Threat 1

Janey’s offer of expensive hospitality is a self-interest threat to my ethical principle of objectivity/integrity/professional behaviour. A self-interest threat occurs when a financial or other interest will inappropriately influence an accountant’s judgement or behaviour. Janey called me several times to press for early payment, then she called me offering expensive hospitality. Clearly she was trying to influence my judgement with the offer.

Threat 2

Janey’s second call is an intimidation threat to my objectivity. An intimidation threat occurs when an accountant may be deterred from acting objectively by threats, whether actual or perceived. The original offer from her was not recorded so she could conceivably claim that I demanded the tickets. Saying that she would lie in this way to my employer was clearly an actual threat to intimidate me into making the payment.

Actions I should take

I should use the Conceptual Framework to apply relevant safeguards to bring the threat to my principles down to an acceptable level OR  I should use the ethical conflict resolution process stated in the code.

I should follow any internal procedure for reporting/dealing with such threats.

I should disclose what has happened to a colleague OR my line manager OR Mo OR AAT and seek advice as to what to do next.

I should reject the offer of tickets.

I should continue to arrange payments to DJ as normal.

Task 1.4

(b)

To:  Mo Hussain Mo.Hussain@NewPlace.co.uk
From: Chris Makepeace Chris.Makepeace@NewPlace.co.uk
Date: 28/2/X8

Subject:  Accounting principles and financial information 

Hello Mo,

Thank you for your email of 28/2/X8.

(1)  Two key assumptions:

Accrual/matching basis of accounting: we include transactions in the accounting period when they arise, not when they are paid in the form of cash. For instance the 20X7 financial statements will include some items of inventory even though we have not yet paid the invoices from their suppliers.

Going concern assumption: we assume that the business will continue in operation for the foreseeable future, without the need to sell assets and pay liabilities at short notice. If we did not assume this, the amounts we show for non-current assets, for example, would be different (market or ‘fire sale’ value rather than how much they cost when they were bought less depreciation).

(2) EITHER

Relevance: financial information is relevant to the user if it is can make a difference to decisions made by the user. The information might be able to help them make decisions by predicting future outcomes (it has predictive value) or by confirming or changing their previous evaluations (it has confirmatory value).

OR 

Faithful (re)presentation: the financial information is complete (it includes all necessary descriptions and explanations), neutral (without bias in how it is selected or presented) and free from error (no errors or omissions).

(3) The statement of financial position (SFP) lists out your business’s assets less its liabilities (including loans), so you can see how much the business is worth (its net asset value). It then shows how the net assets are funded – which is by your capital: the amounts you have introduced into the business plus the profits you have made and kept in the business.

(4) The SFP links with the statement of profit or loss (SOPOL) via the profit figure. In the SOPOL the business’s costs are deducted from its revenue to arrive at the profit for the period. In the SFP this figure is added to the capital you had in the business at the start of the period. Any amounts you have withdrawn in the period for your own use are deducted from this figure to arrive at your total capital. 

OR

The SFP links with the statement of profit or loss (SOPOL) via the closing inventory figure. In the SOPOL the cost of closing inventory is deducted from the business’s costs for 20X7. This is because its cost needs to be deducted from the revenue in 20X8, when the inventory is actually sold. Instead the inventory is shown as an asset in the SFP for 20X7, to be carried forward and matched with revenue in 20X8. 

Kind regards,
Chris 
Task 2.1  (10 marks)
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2 i Sum of Total inventory Cost
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: :::,:::s lsum of Totel 'mm:;::: Total inventory cost from non-furniture

5 |Yellow Berry Ltd 32725 suppliers

6 |Recirc Ltd 10152.9

7 |ABC Supplies 2090.28 Assessor - should be a 3D exploded pie chart

8 Grand Total 16917.37 Chart title should be correct

9 York Retail segment should be yellow and on the right

10 |Make sure D) Furniture is not in the above list York Retail segment must be separated from the rest of the chart

11 |Also ensure Row Labels are sorted Z to A Legend should be in the bottom right corner

12

13|

1| Suppiedby <Y

15| = York Retail

16| Yelow BerryLtd

17 f—
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Task 2.1  (continued)

[image: image14.png]B
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Summary of Inventory

1
Total
Item description Total ot inventory  Suppliedby Approved
2 number cost Assessor - check that rows 1 and 2are frozen _SUPPHers ist
3 |A4 ream bright white 80g 1m £ £237.60 Yellow Berry Ltd
4| A4 ream bright white 100g 109 £1%0 £207.10  Yellow Berry Ltd
5_|A3 ream bright white 80g 1w f20 £266.20 YellowBerry Ltd | Assessor - Check that ONLY these cells G3:G7
6 |A3 ream bright white100g 7B 260 £202.80 YellowBerry Ltd_  are protected by code 123 -you shouid be
7 |Ad ream white 80g 75 160 £120.00 Yellow Berry Ltd able to edit allothers
8 |A4 ream white 100g 49 €170 £253.30  Yellow Berry Ltd
9 |A3 ream white 80 7 210 £119.70 Yellow Berry Ltd_ Assessor - check that you can select any item in Column E and it willprovide a drop dovn st
10 A3 ream white 100g 85 220 £187.00  Yellow Berry Ltd Velow Berry 143
11 | A4 ream yellow 80g 92 £2.20 £202.40  Yellow Berry Ltd Yellow Berry td Nellow Bery 1
12 Adreomyelow g % gm0 o vowsamia | T
13 |A3 ream yellow 80g 94 £2.50 £235.00  Yellow Berry Ltd Yellow 8 from the list L N
14 |A3 ream yellow 100g 19 £260 £309.40  Yellow Berry Ltd Yellow |
15 | A4 ream blue 80g o7 a2 £213.40  Yellow Berry Ltd
16 | A4 ream blue 100g s £240 £211.20 _Yellow Berry Ltd_ You should be prevented from entering anything other than the contents of the st
17 A3 ream blue 80g 66 £250 ﬂss.mmessapnvm insert "Dog" in this cell- you should get a suitable warning
18 |A3 ream blue 100g 0 260 £208.00 Yellow Berry Ltd
19 |Binder 4 hole 50mm Black 79 £1.20 £94.80  ABCSupplies | *
20 |Binder 4 hole S0mm Red 138 | £120 £165.60  ABC Supplies ) oot s om e s s
21 |Binder 4 hole 50mm Green 39 fAmsesor
22 icer 4 bk 75mm Bick n IS e -
23 | Binder 4 hole 75mm Red s s Assessor - please check cell 76
Binder 4 hole 75mm Green 7
25 |pen Red packof 5 105 £1st 15855 YorkRetall
26 |Pen Black packof 5 2 s ans
27 |pencil 28 pack of 10 101 f£1s8 £199.98
28 |Pencil H pack of 10 107 158 21186
25 | A4 ream blue card 250 2 8% £92.80
30 A4 ream yellow card 250g 27 ax £78.30
31 |Extor toner 2314 B £1250 £41250
32 |Extor toner 2558 3 £180 £469.20
33 |Extor toner 3307 7 fa20 £201.40
34 |Belay Cartridge Black 65 8 2 £64.40
35 |Belay Cartridge Cyan 65a 2 8 £72.60
36 |Belay Cartridge Magenta 65a 5 80 £82.50
37 |Belay Cartridge Yellow 65a a s £63.30
38 |Extor B/W printer 2300 3 e1m00  £597.00
33 |Extor B/W printer 3658 4 £25900  £1,036.00
40 |Extor B/W printer 6280 4 £112000  £448000
41 |Belay colour printer 65 3 £39600  £1188.00
22 |Belay colour printer 105 3 £48000  £144000
| NFs Summary | Summary | Store1 | Store2 | Store3 @





Task 2.1  (continued)

[image: image15.png]A B c D 3 F {4 H ! ) K
1 Summary of Inventory
Total
Item description Total ot inventory  Suppliedby Approved
2 number cost Assessor - check that rows 1 and 2 are frozen _SUPPHers ist
43 Diary day to a page black % f0s £1568  YorkRetal
44 Diary day to a page red o s06s £640  YorkRetai
45| Diary week to a page black 2 a0 2140 YorkRetai
465 | Diary week to a page red n e £1980  YorkRetai
47 Eraser packof 5. a | s00 £100  YorkRetai
48 Scisors 15cm black 2 s £15255  YorkRetail
49 scisors 15cm black left hand 5 s6ss £7125  YorkRetail
50 Ruler steel 30cm = £6237  YorkRetal
51 Ruler non spinter 30cm 2 s0ss £1555  YorkRetal
52 Storage box 20635112 Red a8 £5376  ABCSupplies
53 Storage box 20635112 Black 3 saas £12180  ABCSupplies
54 Stapler size 41 Red a sea £19251  ABCSupplies
55 Stapler size 41 8lue s g2 £50301  ABCSupplies
56 Paper clps 40mm (100) ®  f0ss £2242 ABCSupplies
57 Paper clps 25mm (100] mixed colours | 123 £2.50 £207.50  ABCSupplies
58 Paper cips extra large (100) a1 pao £74.40  ABC Supplies
59 pencil sharpener Red 61 f0ss £3595  ABCSupplies
60 Pencil sharpener Black a s0ss £2415  ABCSupplies
61 Executive chair Black leather 3 9895 £3,0535  Difumitre
62 Executive chair red back 9 £280.00  £25000  Dlfumiture
63 3 crawer desk Glass top 2 £57200  £1830400  DJFumniture
64 4 crawer desk glasstop 12 £35000  £420000  DiFumiture
654 crawer fling cab lock back 2 £26800  £562800  Dfumniture
66 2 crawer filing cab grey 6  £27600  £16560.00  DJFumiture
67,10 drauw filing cab grey 52 £899.00  £46,748.00  DJFumniture
68 15 draw fining cab grey 3 £111800  £40,20800  DJFurniture
69 Pedestal 3 draw black 2 £26000  £8,360.00  DJfumniture
70 Pedestal 2 draw black 24 £19500  £4580.00  DJFumiture
71 |Pedestal 3 draw oak effect 35 €3000  £12,25000  DIfumiture
72 Main computer desk variable height Gle 16 £680.00  £10,880.00  DiFurniture _Thssessor=i el Shoud o |
736 door storage locker wlocks 14 25800 £3,61200  DIFumitye £200,132.72 it the formula
74 |6 door storage locker £2,070.00 fture sum(D3:075)
75| Large doufle storage cunboard 2 shelve £3,290.00
7 This oel should contain the
7 ancwer 3 and the formula
& COUNTIF(Ea.C75.>500°)
7 [ Jassessor-check oneof the cells in column E, e.g. E79, to make sure the whole column has a drop down box
)
a1
82

NFS Summary | Summary

Store 1

Store2 | store3




Task 2.2  (16 marks)
[image: image16.png]F22 - £

A

B

NewPlace: Current budgeted performance for six months to 31 December 20X8

£125|Check ALL correct £##,### formatting for currency throughout the spreadsheet

Volume (units) 10000)
Average selling price per unit £165|
Average cost per unit
Wages of shop staff £102,500]
Rent and rates £85,000)
Administration overheads £62,500)
Depreci £75,000)
NewPlace: Current budgeted net profit/loss for six|
months ended 31 December 20X8 i3
Sales £1,650,000]
Cost of sales:
Cost of goods for resale £1,250,000]
Wages of shop staff £102,500]

-£1,352,500]
Gross profit £297,500]
Rent and rates £85,000)
Administration overheads £62,500)
Depreciation £75,000)

-£222,500]

Net profit/loss for the six months £75,000)

[Assessor - learner can use column B or column C for rows 14-16 and 19-21 and costs in Column B can be entered as positive or negative

[Assessor check that thi

[Assessor check that thi

igure is negative

igure is negative





Task 2.2  (continued)

[image: image17.png]25

2
27
28
29
30
31
32
33
34
35
36
37
38
39

41
42

5588

a7

49

@ sure the name box above cell Al shows "revised”.

[Assessor -make sure
[this figure only
lincludes 6 months of
lextra staff costs

[Assessor - Check that this whole table B27:C37 is condition formatted and C31 and C36 are red and

Revised budgeted net profit/loss for six months
‘ended 31 December 20X8 £ £
Sales £1,905,750|Assessor - select the range B27:
Cost of sales:
Cost of goods for resale £1,375,000
‘Wages of shop staff £122,500]
-£1,497,500|Assessor check that this figure is negative
Gross profit £408,250]
Rent and rates £85,000 [Assessor - learner can use column B or column C for rows 29-30 and 33-35
Administration overheads £65,000|
Depreci £75,000
-£225,000| Assessor check that this figure is negative
Net profit/loss for the six months £183,250]
|Assessor - the contents of this cell should be
|a formula =(C27-C13)/C13 and formatted to
%age to two decimal places
Percentage change in revised budgeted sales 15.50%) £550}Assessor - This figure takes into account the increase in sales forecasted
Percentage change in revised budgeted net profit 144.33;
[Assessor - the contents of
|this cell should be a formula
=(c37-C23)/C23 and
|formatted to %age to two
Decimal places

r - learner can use column B or column C for rows 29-30 and 33-35 and costs in Column B can be entered as positive or negative

bold





Task 2.2  (continued)
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7 [From _|Chris Makepeace <chris.makepeace@NewPlace.com>

B Send [To | Mo Hussain <Mo Hussain@NewPlace.co.uk>

B [Subject |Report on estimated performance to December 20X8

10 Dear Mo, As requested | have explained the impact of three of the proposed changes:

11 Sales volume - willincrease by 10% from 10,000 to 11,000 as we provide better customer service

12

13

14 [Selling price - will increase from an average of £165 per unit to an average of £173.25 per unit (5%) as we provide befter customer service
15

16

17 [Wages of shop staff - willincrease by £20,000 (19%) in the six months, from £102,500 to £122,500, as a result of staffing the extra opening
18 hours

19

20 [Admin costs - as a result of extra training to deliver better customer service, admin costs wilrise £2,500 (4%) to £65,000.

21

22

23 Profit is now budgeted to rise by 144.33% from £75,000 to £183,250 as a result of the 15.5% increased sales (from £1,650,000 to £1,905,750)
2 offset by the extra costs incurred to improved customer service.

25

26

27

28

29

30

31

32

33

34

35
i

39

40

41

42

43

W 4> W[ Dec20X8 | Email / Terminology . ¥J






Task 2.2  (continued)

[image: image19.png]the box provided. You will get no marks if you mark more than one box.
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Q1 What is a moving average?

Q2 What is Rank and Percentile?

Q3 What i a Histogram?

Emai

Inserta YES in one box Description

|A number that changes each time you enter data in a row

Yes|

|A graph trendline showing aceumulative changes in data
|A formula that you can use in a column of data
| number transferred to another worksheet

Insert a YES in one box

Description

[ The ascending sorting of data in a column to show the top and bottom figures

| The relative sizes of segments in a pie chart

Yes|

|The relative position of a value within a set of data

[The sorting of data in a row

Insert a YES in one box

Description

|A 3D exploded pie chart showing the relative sizes of data with percentages

|A link to another cell within a spreadsheet

|A set of old data shown in a spreadsheet

Yes|

|A column chart of raw data that creates a pi ution

Terminology < ¥J

Readv |






Task 2.3  (14 marks)
[image: image20.png]Q46 - £

A B c D E F G H 1 ) K M N
1
[Assessor

2 |This cell should contain the

3 NewPlace: Extended trial balance for the year 20X8 |formula =NOW()

2

(Rssessor » — Y

5 Ledger bald e . Statement of profit or loss | Statement of Financial posi 10/08/2016 10:43

6 Account name Dr| [|subtotal worksheet - e.g. =SubtotaltE4 1] D] [& D] [& Explanation for error 1 - admin costs. Key words are in red

7 [Cash at bank £ 12,780 £ 12,780 | used trace precedents and show formulas to find that the T

8 Cashin hand £ 3,450 £ 3,450 formula for Ads costs in cell F18 in the Statement of profit or loss |At least one

9 sales e 3,850,400 £ 3,850,400 [showed the credit adjustment of £1450 being added to the debit :3";’";:;" ﬂ"':'“
10 |Capital J £ 364,810 £ 364,810 ledger balance instead of being subtracted from it. Since the =
11 Purchases - goods for resale 1 £ 905,840 £ 905,840 |£1450 adjustment is a credit, it should be deducted from the ledger |either trace o
12 Purchases - goods forresale2 | £ 529,700 £ 529,700 balance. jprecedents or show
13 Purchases - goods for resale 3 £ 1,342,460 £ 2,780 £ 1,345,240 lauditing

14 Shop wages grade 1 £ 98740 £ Explanation for error 2: accrual Key words are in red

format [Magental-£* -
15 Shop wages grade 2 £ 137,760 £ |40 - not Just. Other payables - accruals in H24 was shown as a debit balance in
16 Rent total £ 140,000] |opecsd 4 £ lused coloured font. the Statement of should be in the
|Check that cells B11:B19 Fill must be

17 Rates total £ 32,000 | |are linked to Subtotal T credit column, in 124. It is possible to find this error using

18 Administration costs £ 84670 mﬂﬂt'f-ﬂ- £ accounting knowledge (accruals are credit balances in the SOFP) or

19 |Administration salaries £ 45210 using show formulas to identify that the original reference in

20 Non-current assets £ 920,000 £ 920,000 [column H (a debit) was to column E (a credit).

21 Depreciation expense £ 150,000 £ 150,000

22 Accumulated depreciation £ 450,000 £ 150,000 £ 600,000

23 Purchase ledger control £ 231,500 £ 231,500 “his cell should contain

24 Other payables - accruals £ 2,780 |the format [Magenta]-£* #,##0 -

25 Sales ledger control £ 415,600 £ 415,600

26 Allowance for doubtful debts £ 2000 £ 2000

27 Irrecoverable debts expense £ 2,000 £ 2,000

28 |Other receivables - prepaid £ 1450 £ 1,450 e

29 Inventory £ 178,500 £ 182,700 | £ 182,700 £ 178,500 | £ 182,700 | £ 182,700 |This cell should = £ 1,585,980

30 Drawings £ 50,000 £ 50,000

31 Profit £ 384,890 £ 384,890

- _ _
32 £ 4896710 | £ 4,896,710 | £ 338930 |£ 338930|f 4,033,100 | £ 4,033,100 £ 1,585,980 | £ 1,585,980 [Balanced |Assessor - this cell should contain a full IF statement]|
=IF(H32=132,"Balanced", "Error on ETB - requires

= linvestigation”)

34 Assessor to check format of currency with zero decimals, and all contents seen (a)

35 Assessor to check that F31 and I31have the correct amount entered (b)

36

37

38

39
40
W 4 v | ETB /Subtotal /¥ 0K}





Task 2.3  (continued)
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16
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19
20

BRERR

2

Purchases - goods for resale 1
Purchases - goods for resale 2
Purchases - goods for resale 3
Shop wages grade 1
Shop wages grade 2
Administration costs
Admi

ration salaries

Item
Rent

Rent

Rent

Rent

Rent Total
Rates.

Rates.

Rates.

Rates.

Rates Total
Grand Total

905840
529700
1342460
98740
137760
84670
45210

Shop

Shop 1
Shop 2
Shop 3
Shop 4.

Shop 1
Shop 2
Shop 3
Shop 4.

Cost
21000

35200
58200
140000

13300
32000
172000

[Assessor -
[check that this cell contains the formula
| =SUBTOTAL(9,F14:F17)





To: Mo Hussain <� HYPERLINK "mailto:Mo.Hussain@NewPlace.co.uk" �Mo.Hussain@NewPlace.co.uk�>


From:  Chris Makepeace <Chris.Makepeace@NewPlace.co.uk>


Date: 31/1/X8


Subject:  Performance of NewPlace in 20X7





1. The budgeted profit for the year was £400,000, whereas the actual profit achieved was only £242,000 (even though the budgeted volume of 20,000 units was achieved).


�
�






2. The revised break-even volume, using the actual figures, is 12,882 units. 


Working:


Actual contribution per unit = £680,000/20,000 units = £34 per unit 


Actual break-even sales volume = Fixed costs/Contribution per unit: £438,000/£34 = 12,882 units 


�
�






3. The actual break-even volume of 12,882 units is higher than budgeted at 12,000 units and has been affected by the following changes compared to the budget:


(i) Decreased fixed costs, which have fallen from £600,000 to £438,000, this reduces the break-even volume required. 


(ii) Much lower contribution per unit than budgeted, which increases the break-even volume required. Budgeted contribution per unit was £170 - £120 (or £600,000/12,000) or (£600,000 + £400,000)/20,000) = £50 per unit, compared to actual contribution of only £34 per unit. 


The reduced contribution per unit compared to the budget has been caused by a reduced average selling price per unit (budget £170, actual £3,200,000/20,000 = £160), plus an increased unit cost (budget £120, actual £2,520,000/20,000 = £126).


�
�
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